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(1) FHRBHEEDFEE

<LNGF 18 A fifitg > <LPGEH# A fftg >
46,000 (F4/*.) X 0.9576 + 57,510 (/") X 0.0466 =

= 46,729.566 (M/".)
= 46,730 (H/".) XI0ARFHEMERA

(2) FHRAFHTAE & B4 T 1R AHEG S0 Z 88 (REHEE L8138 DEE
< EEF RIS >

< FREHER >
83,350 (/%) - 46,730 (/") = 36,620 (/%)

= 36,600 (/")
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< [FERHEIS L Bh5E > <HBEF=E>
36,600 (/%) X 0.081 (F/m) -

100 (M/*.) X (1

= 3202 (H/m) NN A EIMLUTEY LI

+ 008) = 3201768 (A/m)

(4) REME B (FA) DETE (—RARBHBHR HERBOBE)
<BEEHAMHE>

<BEBMEHMBEE>
165.96 (F1/m) -

3202 (A/m)

133.94 (F/m)
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<FH29FTADREHREM>

<TFRH29E6H DR BHS M >
133.94 (A/m) -

133.41 (A/m) = +0.53 (A/m)

(5) HAFE (FRI29ETARE 7, Fiid)

<EAEE> <fEE R B> <AREAE>
1,560.00 (M/A) + 13394 (H/m) X 31 (m/8) = 571214 (A/A8)
= 5712(M/R) MIARBELIET
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